
5HFUXLWPHQW�6RXUFHV�IRU�6SHFLILF�7\SHV
RI�3RVLWLRQV

2&&83$7,216
&OHULFDO�1RQ�7HFKQLFDO 7HFKQLFDO�$GPLQLVWUDWLYH 3URIHVVLRQDO

&R
PS

HW
LWL

YH
�6R

XU
FH

V

&OHULFDO�DQG�$GPLQ��6XSSRUW�
6HULHV�;;���������������������
�����������������������������
������������������������������HWF�

• � 'HOHJDWHG�([DPLQLQJ
$XWKRULW\

• � 1$)�$$)(6�,QWHUFKDQJH�(OLJLEOH
• � 3HRSOH�ZLWK�'LVDELOLWLHV
• � 5HLQVWDWHPHQW��KLJKHU�JUDGH�
• � ����'LVDEOHG�9HWHUDQV
• � 7UDQVIHUV�IURP�RWKHU

DJHQFLHV
• � 9(2$

7HFKQLFDO�0HGLFDO�$GPLQ��0JPW�
6HULHV������������������������������
�����������������������������������
�����������������������������������
�����������������������������������
������������������HWF�
• � $&:$��*6�����OHYHO�
• � 'HOHJDWHG�([DPLQLQJ�$XWKRULW\
• � 1$)�$$)(6�,QWHUFKDQJH�(OLJLEOH
• � 2XWVWDQGLQJ�6FKRODU�3URJUDP
• � 3HRSOH�ZLWK�'LVDELOLWLHV
• � 5HHPSOR\HG�$QQXLWDQW
• � 5HLQVWDWHPHQW��KLJKHU�JUDGH�
• � 7UDQVIHUV�IURP�RWKHU�DJHQFLHV
• � 9(2$

3URIHVVLRQDO�DQG�6FLHQWLILF�
6HULHV������������������
�����������������������
�����������������������
�����������������������
������������HWF�
• � $&7('6��'$��,QWHUQV
• � '(8��HQWU\�OHYHO

SRVLWLRQV�
• � 1$)�$$)(6�,QWHUFKDQJH

(OLJLEOH
• � 3HRSOH�ZLWK�'LVDELOLWLHV
• � 5HHPSOR\HG�$QQXLWDQW
• � 5HLQVWDWHPHQW��KLJKHU

JUDGH�
• � 7UDQVIHUV�IURP�RWKHU

DJHQFLHV
• � 9(2$

5(
&5

8,
70

(1
7�6

28
5&

(6
1R

Q�
&R

PS
HW

LWL
YH

�6R
XU

FH
V

&OHULFDO�DQG�$GPLQ��6XSSRUW�
6HULHV�;;���������������������
�����������������������������
������������������������������HWF�

• � 3HRSOH�ZLWK�'LVDELOLWLHV
• � 5HLQVWDWHPHQW��HTXDO�ORZHU

JUDGH�
• � 6WXGHQWV��67(3�6&(3�
• � ����'LVDEOHG�9HWHUDQV
• � 7UDQVIHUV�IURP�RWKHU�'R'

DJHQFLHV
• � 95$�HOLJLEOHV

7HFKQLFDO�0HGLFDO�$GPLQ��0JPW�
6HULHV������������������������������
�����������������������������������
�����������������������������������
�����������������������������������
������������������HWF�
• � 'LUHFW�+LUH
• � )&,3��PD\�UHTXLUH�$&:$�H[DP�
• � 3HRSOH�ZLWK�'LVDELOLWLHV
• � 5HHPSOR\HG�$QQXLWDQW
• � 5HLQVWDWHPHQW��HTXDO�ORZHU

JUDGH�
• � ����'LVDEOHG�9HWHUDQV
• � 7UDQVIHUV�IURP�RWKHU�'R'

DJHQFLHV
• � 95$�HOLJLEOHV��*6����DQG�EHORZ�

3URIHVVLRQDO�DQG�6FLHQWLILF�
6HULHV������������������
�����������������������
�����������������������
�����������������������
������������������������HWF�
• � 'LUHFW�+LUH
• � )&,3
• � 3HRSOH�ZLWK�'LVDELOLWLHV
• � 5HLQVWDWHPHQW

�HTXDO�ORZHU�JUDGH�
• � ����'LVDEOHG�9HWHUDQV
• � 95$��*6����DQG�EHORZ�

$XWKRULWLHV�LQ�%2/'�LQGLFDWH�PRVW�FRPPRQO\�XVHG


